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ENGLISH VERSION

1  The following are the Balance Sheets of Alpesh limited 14
and Mahesh limited as on 31-3-2019 :
Liabilities Alpesh | Mahesh | Assets Alpesh | Mahesh
Paid up share Fixed Assets 21,60,000 | 12,00,000
capital equity Investments
share of Rs. 100 (market value
full paid 16,00,000 —| Rs. 2,00,000) 1,80,000
Equity shares of Current Assets 7,20,000| 5,76,000
Rs. 100 Each Prel Exp. 1,20,000 44,000
Rs. 50 paid up —| 12,00,000 | Profit and
General reserve 2,00,000 — Loss Ale 2,00,000
10% Debentures 6,00,000| 4,00,000
Creditors 6,00,000| 6,00,000
30,00,000 | 22,00,000 30,00,000 | 22,00,000

On 1/4/2019 Alpesh limited agreed to absorb Mahesh limited

on the following conditions :

(1) The fixed assets of Alpesh limited as shown in the
books are 10% less than the market value whereas the
current assets of Mahesh limited includes stock worth
Rs. 1,76,000 which is over valued by 10%.

(2) The purchase consideration was to be satisfied by issue
of three fully paid equity shares of Alpesh Limited in
exchange of ten equity shares of Mahesh Limited on the
basis of intrinsic value of their shares and balance
amount in cash. Prepare ledger accounts in the books
of Mahesh Limited and pass necessary entries in the
books of Alpesh Limited.

OR
1 (@) Give difference between pooling of interest method 7
and purchase method of merger.

(b) Discuss the two methods of writing of accounts of 7

amalgamation as per accounting standard 14.
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2  Following are the Balance Sheets of Sunil Ltd. and 14
subsidiary company Jagruti Ltd. as on
315" December 2019 :
Liabilities Sunil| Jagruti [ Assets Sunil | Jagruti
Share capital : Goodwill 2,24,000] 1,30,000
Equity share of Building 3,60,000| 2,30,000
Rs. 10 each 18,00,000( 9,00,000 | Vehicles 7,20,000 | 3,40,000
10% Preference Furniture 2,70,000 ] 1,80,000
shares Investments 11,25,000| 2,20,000
of Rs. 100 each 3,60,000] 1,80,000 | Stock 2,25,000] 2,25,000
General Reserve 3,45,000| 1,75,000 | Bank 2,82,000] 4,01,000
Profit and Loss A/d 6,00,000| 6,00,000 | Debtors 3,14,000| 3,20,000
Creditors 3,90,000| 2,05,000 | Bills receivable 5,000 30,000
Bills Payable 30,000 20,000
35,25,000 | 20,76,000 35,25,000 | 20,76,000

Additional Information :

ey

)

®3)

4)

(5)

©6)

()

Sunil Ltd. has purchased 75% equity share of Jagruti
Ltd. on 1/1/2019 for Rs. 7,87,500. On this date, profit
and loss A/c of Jagruti Ltd. shows credit balance of Rs.
1,35,000 and General Reserve of Rs. 90,000 on the same
date.

Jagruti Ltd. paid a dividend of 10% on its paid up
capital for the year 2018 from the balance of profit and
loss A/c as on 1/1/2019.

Preference share capital of Jagruti Ltd. includes shares
of face value of Rs. 67,400 possessed by Sunil Ltd. and
which was purchased on 1/12018 for Rs. 1,57,400.

As per resolution passed on 1st November, 2019 Jagruti
Ltd. has made a bonus issue of one share for every
ten shares from its General Reserve but its effect was
not given in accounts.

All the bills receivable of Sunil Ltd. are drawn on
Jagruti Ltd. Out of which bills of Rs. 15,000 are
discounted with the bank.

During 2019 Sunil Ltd. purchased goods from Jagruti
Ltd. costing Rs 45,000 at the price of Rs. 54,000, out
of which 40% of such goods are lying in stock on
31/12/2019.

On 1/1/2019 vehicles of Jagruti Ltd. were found over
valued by Rs. 45,000. For this necessary adjustment
is to be made. Depreciation has been charged at 10%
p.a.

Prepare Consolidated Balance Sheet as on 31/12/2019.

OR
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2 (@) Define Holding Company. State the documents which a 7
holding company has to attach with balance sheet in
respect of its subsidiaries as per section 212 of the
Companies Act.

(b) Write short note on : 7
Advantages and Disadvantages of a holding company.

3 (a) Explain EDP Audit. 7
OR

(@) Explain concept of Government Audit and duties of
Comptroller and Auditor General.

() (1) What are the powers of Comptroller and Auditor 4

General.

(2) What is Control Process.

(© (1) What is main internal structure in EDP system? 3
(2) What is Primary Auditors?
(3) What is CAG?

4 (a) Distinguish between Financial and Management. 7

Audit.
OR
(@) What is Management Audit ? Explain its techniques. 4
(b) Discuss aims of Cost Audit. 4
OR
(b) Write short note on scope of Management Audit. 4
© (1) Who and how do recruitment of Cost Auditors ? 3
(2) What is meaning of Operating Audit?
(3) How Management Audit helps the business entity ?
5 Select correct option from the given options for each 14

question : (any seven)

ey

)

Unrealized profit on stock is to be cancelled.
(A) To the extent of share of holding company
@) 100%

(C) Only 50%

(D) None of the above

Dividend received by holding company from pre-
acquisition profit is used.

(A) All of the following

(B) To reduce the value of goodwill

(C) To reduce the value of investments

(D) To increase the value of capital reserve
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(3) Minority interest does not include.
(A) Equity share capital
(B) Debentures
(C) Preference share capital
(D) All of these
(4) Merger method has philosophy of.
(A) Co-existence (B) Separate existence
(C) No existence (D) None of these
(5) In case of merger, difference of excess payment to
vendor company by purchaser company will be debited
to-
(A) Profit and Loss Alc B) Goodwill A/c
(C) Capital Reserve Alc (D) None of these
(6) General IT controls include.
(A) Administrative controls
(B) System development controls
(C) Procedural controls
(D) Both (A) and (B)
(7) As per AS-14 purchase consideration is to be discharged
in the form of.

(A) Shares (B) Cash

(C) Debentures (D) Both (A) and (B)
(8) Which of the following is not component of Management

Audit ?

(A) Efficiency Audit (B) Propriety Audit

(C) Operational Audit (D) Internal Audit

(9) The objective of Management Audit is
(A) To examine and improve efficiency of management
(B) To advise and report to management
(C) To reveal shortcomings in management
(D) All of the above
(10) SAI stands for-
(A) Supreme Audit Institution
(B) Specific Audit Institution
(C) Sound Audit Institution
(D) Special Audit Institution
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ENGLISH VERSION

1 (@) What is investment ? Write characteristics of 7
investment.
OR
Write a note on 'Investment alternatives'.
(b) Explain Investment Process in brief. 4
OR
Explain portfolio management process.
() Write the answers of the following questions : 3
(1) Write functions of share market.
(2) Write meaning of stock exchange index.
(3) What is gambling ?

2 (@) Write characteristics of security market. 7
OR
Write difference between technical analysis
and fundamental analysis.

(b) Write characteristics of Risk and return on 4
investment in financial assets.
OR
Write method of equity valuation based on assets
valuation.
() Write the answers of the following questions : 3

(1) What is economic analysis ?
(2) Write meaning of efficient market hypothesis.
(3) Explain the concept of current yield of bond.

3 (@) What is portfolio management ? Write its need. 7
OR
Write a note on portfolio diversification.
(b) Write assumptions of Markowitz theory. 4
OR
Give information about security market reports.
() Write the answers of the following questions : 3
(1) Write types of portfolio.
(2) Write main objective of traditional
portfolio theory.
(3) What is active portfolio management ?
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(b)

©

Write difference between capital market line

and security marketline.

OR

Write assumption behind capital asset pricing model.

Give information about usage of arbitrage pricing
model.

OR
Write assumptions of arbritrage pricing model.
Write the answers of the following questions :
(1) What i1s systematic risk ?
(2) What 1s unsystematic risk ?

(3) Security marketline indicates what ?

5  Write the answers of the following questions : (any 7)

(1)
@)
®3)

(4)
(5)

(6)

()
@)
9)

What is speculation ?
Write names of Financial Assests.

When it is to be said that marketability of investment
is good ?

Explain the meaning of Derivatives.

The expected rates of return of investment plan for 6
years in equity shares is 11%, 12%, 10.5%, 13%, 12.5%,
14%. Calculate annual average return for this
investment.

Explain meaning of government bond and corporate
bond on the bases of Risk and return.

Write two objectives of Index.
What is liquidity ?

Explain the meaning of Security market.

(10) Write meaning of Fixed coupon bond.

(11) Explain the concept of yield to maturity of bond.

(12) Write two needs of portfolio management.

(13) Income portfolio is useful to which investors ?

(14) Explain the concept of Capital market line.

14
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(6) aioil ouousd Hd S\ ..., 1,60,000
(7) PPFHL SO0 ..o 40,000

sl -l 3. 30,000 H el swda s+l H UL AU
8. sl uza-dl euGdl Ysaaual -l suwdisll 2Rl .

(o) sam 234 (B) 27 234 (C) 8% UGl S YsaAdMl s34 4
sl Il oS,
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5 <A el usdl e o [seudl wrieoll s 14

(1) QA YA 55 Prasd o BMasd aeudl el ?
A) Hal R\$
B) dl» €& AHA
©€) slise
D) isuel Al

(2) wiad 2012-134 usiel af ...,
(A 2011-12 B) 2012-13
(C) 2013-14 D) 2017-18

(3) 20U6 diqMi sHAA <51 wssal ai UL GURAML Al

N

3.5,00,000 U7 B,
A wHLA Wl W2

B) Wlw wal A Wl W2 dl
(C) B Wla HE2

D) Gul 3 el

(4)  2u6dl Ysaalulat A AR % ML WsL 8, AR A (2uasdRL
CIETREIEIIO))

A 3. 10,000 €

B) 3. 10,000 % ael ay
©) 3. 15,000 €

D) Gyl sHl

(5) o 2td wsisel Ao Alls yemidl .. ¥edl u
wiilRld suld diy ele wa €.

A) 30% B) 20%
(C) 15% D) 10%
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(6) Wl o8 ........... dl s2ysd B,
A =Rs 3. 500 @) s 3. 800
©) *ls 3. 1,000 O) s 3. 1,600

(7) 533 M3l MRl sled 32dl 251 Ay MG U3 7

A 12% @) 24z
C) 36% O®) 100%

(8) sa 80 C &0 suUlpl Ayul Ay W -

(A 3. 1,00,000 @) 3. 1,50,000

(©) 3. 2,00,000 D) GuAidl visueL €l
(9) A dadlu Moy 8,

A) o-lagd ¥ uileq B) H3L Uz AU

(C) &ull uglaxl vdleq D) GUASd AHH

(10) oz syl adda Rz ............ a8 A3 DDT &Rdl
REE N
(A) sl 80% B) sl 100%
(C) sdv.L wH, D) 3. 10,000

(11) 48 ol W2 AwRuAY udd 2 2uWIRs URsM B,
Q) v B) 43
©) (A @1 B) 4 D) Wy

(12) s A allls 3yt 3. 45,000 8. Hgid ¥MHRua 28
3. 5,000 ysad . Ui A Alls yeu 3ed 7

(A) 3. 45,000 B) 3. 40,000

(C) 3. 28,000 D) 3. 31,500
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(13) 54 80 E ds4 Galuae e wadl di--l swd .......... Y12

olle O 8.
A 5 ad ®B) 8 ay
(©) 10 ad D) suel «dl

(14) 215 A0 A LAA B 2 lRaH] WA 20U 5 V. A
R Ysdd vl 3. 24,400 €1 dl v 191l 32dl suld ele

CEIN
A 3. 7,200 @) 3. 17,200
(C) 3. 2,400 D) 3. 22,000

ENGLISH VERSION

1 (@) Give the meaning and characteristics of Tax planning. 7

OR
(@) Discuss the factors affecting Tax Planning. 7
(b) Attempt any two from the following : 4

(1) Explain tax evasion
(2) Residential status
(3) Tax avoidance

(4) What is previous year ?

(c) Answer in one or two sentences : (any two) 3
(1) Describe the income tax slabs for AY. 2017-18.

(2) If Mr. Ashok has income of previous year
Rs. 15,00,000, what will be his tax liability for the
AY. 2017-18 ? (55 years)

(3) What is very senior citizen ?

(4) Give two examples of direct and indirect taxes.
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2 (@) Shri Takshil was working in Mumbai in a private firm. 7
his monthly salary was Rs. 80,000. Dearness
allowance 60% of basic salary (1/3'¢ for retirement
benefit), medical allowance Rs. 1,000 p.m., education
allowance p.m. Rs. 1,200 (for 3 children). Company
gives him following two options, which option should

he accept ?

Option - 1 : House rent allowance of Rs. 18,000
p.m. is to be given and he will pay
Rs. 15,000 p.m. as rent of his
residence.

Option - 2 : The employer has provided him

residential accommodation in Mumbai
whose fair rental value is Rs. 1,50,000.
furniture costing Rs. 4,00,000 is also
provided by employer.

OR

2 (a) Vinayak has two house property. He is seeking your 7
advice to decide residential house for tax planning. Give
your opinion with rational reasons :

Particulars House Property
Aashirwad | Sukun
Rs. Rs.
Municipal valuation 7,00,000 |6,00,000
Fair rent 7,50,000 | 5,00,000
Standard rent 7,60,000 | 4,80,000
Municipal taxes (paid) 20,000 15,000
Municipal taxes (unpaid) 5,000 4,000
Land revenue 3,000 2,500
Insurance premium 2,500 2,000
Interest on loan taken for the
construction (paid) 80,000 60,000
Interest on loan taken for
the construction (unpaid) 10,000 15,000

Give your opinion keeping in mind section 24 (a) and

24 (b)
HB-083002 ] 9 [ Contd...



(b) Shri Jainil gives following information for F.Y. 2016-17 7
calculate taxable amount of capital gain. Give your

suggestions to reduce tax liability :

Particulars Residential | Jewellery

House (Rs.) (Rs.)
Date of purchase 1-7-1975 | 1-10-1986
Purchase price 2,50,000 4,90,000
Selling price 40,00,000 50,00,000
Selling expenses 50,000 7,500
Date of selling 1-1-2017 1-9-2016
Fair market value on 1-4-81 3,00,000 -
Index 100 140

Index for F.Y. 2016-17 was 1125.

OR
(b) (1) What are perquisites ? Explain any four in 4
detail.
(2) Provisions of u/s. 80 G related to donations. 3

3 An Indian company wants to collect Rs. 50,00,000 for its 14
new venture. The company is expecting EBIT of 25% on this
investment. Company can borrow money from the market
at rate of 12% p.a. The company has following three options

for its capital structure.
(1) Entire amount is collected through equity shares.
(2) Debt - equity ratio 2 : 3
(3) Debt - equity ratio 4 : 1.

Assume dividend payout ratio to be 80%. The total
corporate tax is 35.02% and tax dividend distribution is
19.055%. Advise the company about the selection of proper

capital structure.

OR
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3 (@) Discuss in detail taxability of dividend distributed 7
by company keeping in view section 56 (2) (1) and

Section 2 (22) of the Act.

(b) Attempt any two : 4
(1) Explain residential status of a company.
(2) Explain the provisions of MAT.

(3) What type of Tax concession is available to
the shareholders of an amalgamating

company ?

() Attempt any three : 3
(1) What is Inter Corporate Tax ?
(2) Explain Foreign company.
(3) Who 1is lable to pay DDT ?

(4) What is demerger ?

4 A company is seeking your advice for its managerial 14
decision so that company can avail the benefits of tax
planning. You are provided the following information.
Company has undertaken expansion project, where decision

1s to be taken with asset to acquire or to obtain on rent ?
(1) Purchase price of property is Rs. 20 lakhs.
(2) Amount of loan to acquire property is Rs. 20 lakhs.

(3) Five installments for the redemption of loan +
interest.
(4) Rate of interest is 12%.
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(5) Installments and other expenses are to be paid at the
end of year :

(1) Annual rent of property Rs. 5 lakhs
(2) Rent contract period 5 years.

(3) Rent document charges (at the time of contract)
Rs. 50,000.

Other information :

(1) Rate of depreciation (Reducing Balance method) 15%.
(2) Corporate tax rate 35.02%

(3) Present value @ 10%.

T1.909 T2.826 T3.751 T4.683 T5.621

Which option is desirable from the view point of the
company ?

OR
4 (a) The following particulars are submitted by Shri Rajesh 10
(54 years) for the F. Y. 2016-17 :

Particulars Amount Rs.
(1) Income from salary .................cccccccooo..... 12,00,000
(2) Rent from house property..............ccccccoooo..... 96,000
(3) Interest on Government securities .............. 15,000
(4) Interest on bank fixed deposits.................. 20,000
(5) Income from lottery (Net)........oooocooerniiii.... 70,000
(6) Long term capital gain .............................. 1,60,000
(7) Contribution to PPF ..., 40,000

Shri Rajesh entitled to tax credit of Rs. 30,000 on
account of tax deducted at source. Compute the advance
tax payable by Shri Rajesh in various instalments.

(b) U/s 234 (B) and 234(C) provisions for defaults in 4
payment of advance tax.
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Select appropriate option from given questions :

(1)

@)

®3)

(4)

(5)

(6)

Out of the following which asset is not considered as
capital asset ?

(A) Stock of goods

(B) Lease hold rights

(C) Copyright

(D) None of the above

AY. for P.Y. 2012-13 is

(A) 2011-12 @) 2012-13
©) 2013-14 D) 2017-18

Profit earned in earlier years in London and remitted
to India during previous year Rs. 5,00,000 is taxable
to -

(A) Resident

(B) Resident but not ordinary resident

(C) Non-resident

(D) None of the above

Advance tax is payable provided it 1s (as per IT Act)
(A) Rs. 10,000

(B) Rs. 10,000 or more

(C) Rs. 15,000

(D) All of the above

The standard deduction at 1s deducted on net
annual value of housing property let-out.

A) 30% B) 20%

©) 15% D) 10%
Transport allowance is exempt upto -

(A) Rs. 500 p.m. (B) Rs. 800 p.m.
(C) Rs. 1,000 p.m. (D) Rs. 1,600 p.m.
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(7) What is the rate of interest charged for late payment

of tax ?
A) 12% B) 24%
©) 36% D) 100%

(8) Deduction u/s 80 C is allowed for the maximum amount
of -

(A) Rs. 1,00,000
B) Rs. 1,50,000
(C) Rs. 2,00,000
(D) None of the above
(9) Following is a Managerial Decision -
(A) Make or buy
(B) On lease
(C) Purchase by Instalment
(D) All above
(10) DDT 1is payable when the dividend distributed by

company exceeds
(A) 80% of profit B) 100% of profit
(C) any amount (D) Rs. 10,000
(11) Financial cost is effective factor for capital formation -
(A) False (B) Incomplete
(C) Both (A) and (B) (D) True

(12) If gross annual value of a house is Rs. 45,000 and local
taxes paid by tenant is Rs. 5,000, then what is net

annual value of the house ?
(A) Rs. 45,000 B) Rs. 40,000
(C) Rs. 28,000 D) Rs. 31,500
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(13) Deduction under section 80 E for payment by way of

loan for higher education is allowed for -
(A) 5 years (B) 8 years
(C) 10 years (D) None of the above

(14) An assessee has two children and staying in hostel for
education what will be exempted expenditure if he has
actually paid Rs. 24,400 ?

(A Rs. 7,200 B) Rs. 17,200

(C) Rs. 2,400 (D) Rs. 22,000

HB-083002 ] 15 [ 700 / 19-13 ]



* H [4 - o 8 3 o o 3 *

HC-083003 Seat No.

M. Com. (Sem. III) Examination
October - 2019

MCOMC303 - Management Control System

Time :

Hours | [ Total Marks : 70

AAaly viga ugladl &gl agudl.
vl

AAla-ld 2ige 2 3R g ARAA dsiad AHAAL

gsul ool wdl (R A &)

(1) 2iga ughini drdl oeudl.
(2) Alus »igy uBu »2d g ?
(3) Wdld »igy ughi 2ed g ?

ws-6, el walel Ml
(1) »aMs iga wBu 22 g ?
(2) QAudl Risla 2ed g ?
(3) Ausll syl 2@ g ?
vige gl ol [oLdair yuedl.
vl
AAla-la vigasdl @ 3l dd wd & 7 sq1 wRetolq
vigael WAL AL MR UM Q] 2d © 7

gsul ool wdl (R A &)
(1) »lga uBusd ded g ?
(2) duadly w2 2ed g ?
(3) [MMu GeouedulF wsendl.

-6 LMl walel Ml
(1) cnvar »pdl : A2
(2) wuerAlRs 22d g ?
(3) oo suliol Al
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3 (a) adlzu usadii adl Aed g ? Adlzu Asndil uRewol 7
Al uEar AxmAl.

wql

(1) Susll AesR 2@ g 7 Hoold ABIR A 6l AR AR 7
dslad .

(o) gsai st »udl : (AR &) 4

(1) Ad-=s 518U AR Rl @),
(2) Aelal Aded wHendl.

(3) R sEdugl axdil edfq M L.

(5) A5 fldMi wus au 3
1) apklysd H-Aeu yHmdl.

(1)
(2) sAd dwR 2ed g ?
(3)

3) irslas 9 ved g ?
4 (2) agadla ugfaai- iga dselldl 2al . 7
w2l
() [rtetst-ll el usodl -l adlzu wRoel-l 2af s, 7
(o) gsai st »udl : (AR &) 4

(1) [Put-wsiel e 212 o © 7 d-ll »9L daell weud.
(2) 2ellfis Azl aalisdl geud.

(3) Bt st el @a-t By N2d g ?

(5) A5 fldMi wus >l 3
(1) s SRR 22d g ?

(2) war »idx Wed g ?

(3)

3) vaAlid [ sl AL 6 UM 2.
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5 Rl waedl wiedll s 14
(1) <03 Q4 A5 cusd g uskidl ool <.
(1) SiRe o 2@~
(o) Pys P yHe daa-dl 2sdsu
(5) seisidl axa
(3)  As-Sas [sdnel

(2) dwax vigu-l walbs ofs ... 4 AHAUL HsAHi
Hee sdl.
(24) dlog=iizil (o) GRa
()  ysra-uil (3)  Gur~l omL % [used

(3) 02 ALl s ‘gaoeld] FGUHE quid adl 9.

() walq ¥ () Al 3w
(5) wllasd 3w (3)  Aswed 3w
(4) ... SAURS YAl AN igy 8.
(21) [l (o) 2irgl
(5)  *olelusizil (3)  Gur~l omL % [used
(5) Al vaasll duayd 9Ud ... A s,
(1) Dol =z (o)  oflllv22
(5) awry sk (3) @88 [z
(6) el iga W2 ASHRARSA A-UAL wE- Aluay Gulol
......... sl
(1) Dol =z (o)  oflllv22
(5) awry sk (3) @88 [z
(7) Qelel AAHL e A WAL WY B,
(1) u3dr ARSI () Qelael [aeeicl
(5) Assasl s~ (3)  Gua-l ouL %
(8) 2w A ............ dslid Gelsel .
(1) Gy (o) 2Dl (A1)
(5) weun (3)  Guasl syl %
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(9) <0A WA s apgundla sudl-l e <l
() 2tidly oeradl (o) odleld gl
(5) Ad8RR HeAU-L (3)  2r-udas erasl

(10) AL A4 215 Alae Rzaniel SEAE @3ud el oo Gl
S, A Al

(x1) ADR () SDR
(s) GDR (3) IDR
(11) ........... pisH HIZ2 Ad]l e AU AHAL HIRHl R O,

») Heayel Asadl uReiol

(
(o) sicats AMBAU
(5)  wuu 2igy

(3)  Gu-l auL % [used

(12) 02 VA 215 w9t Bisi-~si-ll e gl Aaladl wgfzi-
sdaRUl wadl el

(1) elsddl Aail

(o)  Ralels el

(5)  cdaal wil

(3) ™Ml ugRizil Adadl e
(13) .......... s(lZ] iy [urede Gelswl 8.
) Ad-e (Riglid) R 518
o) -ususld iga [uem
5) el 3w

3)  Gudl oul ¥ [Rised)

(14) ..., sl TQM Il w3sid 4.
(1) erd (a) 23R8t (U.S.A)
(5) our (3) 2
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ENGLISH VERSION

-3

1 (a) Explain the objectives of Management Control System.
OR

(@) Describe the difference between Management Control 7
and Routine Control.

(b) Answer briefly : (any two) 4
(1) Describe the elements of control system.
(2) What is formal control process ?

(3) What is adaptive control system ?

(¢) Answer in one-two lines only : 3
(1) What is informal control process ?
(2) What is Dysfunctionality of objectives ?
(3) What 1s Goal Congruence ?

2 (a) Explain in details the attributes of control system. 7
OR
(a) How to designing the management control ? Which 7
are the factors consider for designing the management
control ?
(b) Answer briefly : (any two) 4

(1) What 1s Hierarchy ?
(2) What is Organizational stack ?

(3) Explain idle capacity.

(¢) Answer in one-two lines only : 3
(1) Give definition : Entropy
(2) What is Cybernetic ?

(3) Explain loose coupling.
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3 (@) What are the variables of key success ? Describe the 7
process of identification variables of key success.

OR

(a) What is corporate culture ? Distinguish between 7
strong culture and weak culture.

(b) Answer briefly : (any two) 4
(1) Describe four elements of balanced score card.
(2) Explain product leadership.

3) Give four name of performance indicators,

(¢) Answer in one-two lines only : 3
(1) Explain Emotional tension.
(2) What is Clan Culture ?
(3) What 1is Cultural web ?

4 (a) Discuss on control issues of Multinational operations. 7

OR
(@) Discuss on key success factors of Non-profit 7
organization.
(b) Answer briefly : (any two) 4

(1) What is meaning of non profit organization ? Give
three characteristics of its.

(2) Explain the characteristics of intangible services.

(3) What is mission of non profit organization.

(¢) Answer in one-two lines only : 3
(1) What is transfer pricing ?
(2) What is power distance ?

3) Give two names of well known non profit
organization.
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5 Select the correct option : 14

(1) Which of the following point is not a part of control
system.

(A) Corporate strategy

(B) Tactics of strategies business unit level
(C) Operational budgets

(D) Break-even analysis.

(2) The primary role of Management control is to help
execute chosen ...........

(A) Plans (B) Objectives
(C) Strategies (D) All of the above
(3) Which of the following is not included in Responsibility
centres ?
(A) Expense centre (B) Power centre
(C) Revenue centre (D) Investment centre
(€ are formal instructions and controls.
(A) Rules (B) Culture
(C) Manuals (D) All of the above
(5) The concept of Entropy firstly expressed by ............
(A) Norber weiner (B) Griesinger
(C) Lazare Carnot (D) Staffered Beer

(6) The concept of the cybernetic paradigm firstly used for
management control by .............

(A) Norber Weiner (B) Griesinger
(C) Lazare Carnot (D) Staffered Beer
(0 T is included in product leadership.

(A) Cost effectiveness
(B) Product differentiation

(C) Customer focused strategy
(D) All of the above

(8) dJapan is an example of ................ context culture.
(A) High (B) Low
(C) Medium (D) All of the above
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(9) Which of the following is not a strategy of multinational
company.

(A) International strategy
(B) Global strategy

(C) Transaction strategy
(D) Transactional strategy

(10) Which of the following is not tool for collecting finance
fund of nature of equity from international.

(A) ADR B) SDR
(C) GDR (D) IDR

11 ... are the basis for the firm to search for new
strategies.

(A) Critical success factors
(B) Strategies uncertainties
(C) Interactive control

(D) All of the above

(12) Which of the following activity is not covered under the
scope of activities operated by Non profit organization.

(A) Medicine service

(B) Educational services

(C) Professional institutions

(D) Sport activity organized institutions

(13) e is an example of performance measurement

(A) Balanced score card

(B) Financial control system
(C) Responsibility centre

(D) All of the above

(14) TQM 1s started in ............... Country.
(A) India B) US.A.
(C) Japan (D) China
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HE-083004 Seat No.
M. Com. (Sem. IIT) Examination
October - 2019
MCOME301 : Management Accounting - I

Time : 3 Hours ] [ Total Marks : 70
1 () dnady fsuell ughi-l (2504) 22l s3. 7
Y qL
(1) dnafa Aol ugli 20 weusla Baell ugli a2d dsiad 7

Al
(o) «DAA Al vl 200 RAGA 29 519030 Rag--l 7

aBIdil s :
(1) arg X -l @sugls usd 3. 100

(2) drqd X -l WAWR Gdlg 5,000 wAsHIAl WIMR U3dR
3. 6,00,000

(3)  yei: R2RRUHAL 2R 2UG] uHIRL FsHELS 3. 50 Fed
{189 Slal i x[uy,

Y9l
() DA uadel ol 2 : 7
(1) Gauled alsd Rad--dl asfEus vid audl.

(2) 2w R 218 SR R duod).

2 (3) wielvsidl 2 A qaleli weud). 7
Y qL
(1) ool uaLasdlil weudl. 7
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(o) 55 Q1D 3Ls [aewoL 807 wEA 3. 12,00,0004 A8l 83 7
8 2 Al WAL A WL
agladl wal :

stalad wour (RR) ..o 3. 2,00,000

AL M L QARLAL 2%

AU (RAR) oo 3. 20,000
qelL vl :

UOLIR ettt et e e e QAL 10%

sl A, ARl 3%

QL B WA L, QAR 1%
[aze wal :

WL (RBR) ..o 3. 30,000

BLLE et ARl 3%

B WA L QARLAL 2%

Gual [aoLdl uel 90% 2 1007 wlsaxl adladl, dael w1
[adreL vl uRad-lla eg2 ol-ldl.

4|
(o) -5 [, 1007 aMclal 40,000 AsH Gaule 52 ©. [suell 7
il Al lEd 1A © -
(o Ay 2019 Fo@ 2019
Gawtel AWl ... T0% viiiinnnn. 90%
3. 3
ULAR Lot 18,000 ............. 20,000
HERL o 7,000 ..o 9,000
RURL 2 HAHA e, 5,000 ..o 5,600
Quatell e R . 14,000 ............. 18,000
UOUR Lttt et e e e 12,000 ............. 12,000
S RAUESAA/AUIRL oo, 2,000 ..o 2,400
BRARL e et e e et 15,000 ...c......... 15,000
Qéladl MARAL 3,500 oo 4,500

Balen-ll e $ALSElS 10 sHL 8. WA HIAALHIL ASHELS
3.2 6 v uds HYRIAL 82 sallsels 3. 4 9.

Gua-l [otdl uel 60% 2 80% &HdlA Gedle wddr~{l 28Ldl
st uRad-alla sz duir s, [RER wal, Alkid vl 2 stdalid
wala]) we salqal.
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4 Bl BAEls 3. 4.50 e, 18
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(3)  srvuwew v vy -
5 sels, selsels 3. 1.60....oooooiii, 8 e,
4.5 $ALS, SALSELS 3. 2 oo 9
(4) RAR wda wd :
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SAUIAR ot 31 o, 34.80
el Bud (AsHEls) ..o 40 oo, 42
QARLAL AEH oo 80,000 .............. 70,000
AL 3. 7,20,000 ........... 5,04,000
dAHIR o330 ot o [QAd-A-l Rl sl © i o1F2 Yol A
wRuR st qaaell saldad usls dur sdld 9.
w2l
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() [aad Adaad Gyel Do aled 209 sl aued. 7
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w2l
(1) iga A& HRe wxAdl. 7
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w2l
(o) [aad- sigelladt vz -du avl, 7
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(1)
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(1) uHRL YR () Aluid u3dr

(5)  [(Bauedl well (wly (3)  Aa widr
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ENGLISH VERSION

1 (a) Discuss the techniques of Management Accounting. 7
OR
(a) Explain the difference between Management Accounting 7

and Financial Accounting.

(b) Calcualte the planning and operating variances from 7
the following information :

(1) Standard cost of product X Rs. 100 per unit.

(2) Actual cost incurred Rs. 6,00,000 on the production of
5,000 units of product X.

(3) Review of standard cost resulting in an operation that the
standard is an under estimate to the extent of Rs. 50.

OR
(b) Answer the following questions : 7
(1) Explain production capacity variance and opportunity cost.

(2) Explain planning variance and operatng variance.

2 (a) State the meaning and limitations of budget. 7
OR
(a) State the essentials of budgeting. 7
(b) A department of Kanak Itd. attains sales of 7
Rs. 12,00,000 at 80% capacity and its expenses are given
below :
Administrative expenses :
Office salaries (fixed) ................................. Rs. 2,00,000
General exXpenses ....................cccccoeeeeiiiinien, 2% of sales
Taxes (fixed) ..............ccooooiii Rs. 20,000
Selling expenses :
Salaries ...........ooooioiiiiii 10% of sales
Travelling expenses.........................ccoeoeeen, 3% of sales
Sales office expenses ........................ccoeei 1% of sales
Distribution expenses :
Wages (fixed).................ocoooii Rs. 30,000
Rent ... 3% of sales
Other eXpenses ...............ccccccoeeeiiiiiieeiine, 2% of sales

From the above information prepare a Flexible Budget for
administrative, selling and distribution overheads operating at
90% and 100% of capacity.

OR
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(b) Janak Itd. produces 40,000 units at 100% capacity. 7
The following information is obtained from the books of

account :
Particulars January February
2019, 2019
Rs. Rs.
Production Level ...................................... 70% .o 90%
Power ... 18,000 .............. 20,000
Wages..........ooo 7,000 ... 9,000
Repairs and mainenance ........................ 5,000 ............... 5,600
Consumable stores ............................... 14,000 .............. 18,000
Salaries ... 12,000 .............. 12,000
Inspection .................cooocciiiii 2,000 ................ 2,400
Depreciation .......................ccoooee 15,000 .............. 15,000
Administrative eXp. .....................ccooo.n 3,500 ... 4,500

The rate of production per hour is 10 units. Direct material is
Rs. 2 per unit and direct labour rate per hour is Rs. 4.

From the abovce information prepare flexible budget at 60% and
80%. capacity. Show fixed expenses, variable expenses and
semi-variable expenses clearly.

3 Following information is received from the books of Vipul Ltd. 14

Cost per unit

Particulars Standard Cost Actual Cost
Rs. Rs.
(1) Raw materials :
4kgs at Rs. dperkg. ..., 16
dkgs at Rs. 45 per kg ..o 18
(2) Direct labour :
5 hours at Rs. 1.20 per hour ............................ S
4.5 hours at Rs. 1.20 per hour .....................ooooiiiiii 540

(3) Factory overheads :
Variable :

5 hours at Rs. 1.60 per hour ............................ 8
45 hours at Rs. 2 per hour ... 9
(4) Fixed over heads :
Perunit Rs. ... 2 2.40
Total COSt....ooovviiiiiiiiei e 31, 34.80
Selling price per unit................c....oooevieeeeen... 40 . 42
Sales units ... 80,000 .................. 70,000
Profit Rs. ....ccoooiiiiii 7,20,000 ............... 5,04,000

You are required to calculate all variances and prepare reconciliation
Statement of Budgeted and Actual Profit.

OR
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(b)

4 (3

(2)

(b)

(b)

Explain in detail Single plan and Partial plan.

Explain the advantages and limitations of Dual plan system of
recording variances.

Explain Cost Benifit Model with Illustrations.
OR
Explain Control Charts Model.

Mention the causes responsible for Material Price Variance.
OR
Write a note on : Controllability of Variances.

5 Select the correct option : (any seven)

(1)

)

)

(4)

©)

Which technique (method) is not of management accounting ?
(a) Standard Costing

(b) Marginal Costing

(¢) Decision Accounting

(d) Service Costing

Management Accounting is an extension of
(a) Cost Accounting

(b) Financial Accounting

(c) Financial Management

(d) None of these

Planning variance = :

(a) Original standards - Revised standards
(b) Revised standards - Actual results

(¢) Original standards - Actual results

(d) None of these

Budgeted sales units are normally determined by
(a) The Account Department

(b) The Engineering Department

(¢) The Personnel Department

(d) The Marketing Department
Appropriation budgets are

(a) Flexible budgets

(b) Fixed budgets

(¢) Incremental budgets

(d) Zero base budget

14
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(6) At 60% capacity factory overhedas are Rs. 40,000 and at 80%
capacity factory overheads are Rs. 50,000. Amount of fixed
factory overheads included in the above amount would be

(a) Rs. 50,000
(b) Rs. 10,000
(c) Rs. 40,000
(d) None of these
(7) Material Cost Variance = Rs.—12725(A)
Material Usage Variance = Rs.+6975(F)
Material Price Variance = ?
(a) Rs. +19700(F)
(b) Rs. —19700(A)
(¢) Rs. +5750(F)
(d) Rs. —5750(A)
(8) Idle time is 150 hours, standard labour rate per hour is Rs. 12

and actual labour rate per hour is Rs. 11.60 then find out Idle
Time Variance.

(a) Rs. —1800(A)
(b) Rs. —1740(A)
(c) Rs. +1800(F)
(d) Rs. +1740(F)

(9) Which of the following is Cost Variance Investigation
Model ?

(a) Profit Volume Model
(b) Control Chart Model
(c) Material Control Model
(d) None of the above
(10) In the formula C<(1-P)L, L denote for .
(a) Net profit
(b) Cost of Investigation
(¢) Net Loss
(d) None of these
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ENGLISH VERSION

1 (A) Write meaning of Corporate Financial Reporting and 7
information about quantitative and qualitative
statements included in it.

OR
Write essential qualities of transparent financial report
(7F model).
(B) What is importance of corporate financial report from 4
the view point of Shareholders ?

OR
Explain the main objectives of Financial Report
in brief.
(C) (1) Explain the concept of 'consistency'. 3

(2) Write name of users of financial report.
(3) Explain the accounting concept of Materiality'.

2 (A) Explain the classification of corporate financial 7
reporting.
OR
Write components of mandatory disclosure.
(B) Write in brief information about Director's report. 4
OR
Explain the concept of True and Fair view.
(C) (1) Explain the meaning of disclosure. 3
(2) Write the meaning of Cash Flow Statement.
(3) Write qualitative components of voluntary
disclosure.

3 (A) What is Accounting policies ? Write note on scope 7
of accounting policies.
OR
Write a note on valuation of cost of fixed assets
according to Accounting Standard 10.
(B) Write note on related parties according to Accounting 4
Standard 18.
OR
Write a note on Earning per share according to
Accounting Standard 20.
(C) (1) What are contingencies as per Accounting 3
Standard - 4 ?
(2) Explain the meaning of basic earnings per share.
(3) What is going concern concept ?
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4 (A) Write merits of segment reporting. 7
OR
Explain the types of segment according to segment
reporting.
(B) Explain the need of internal segment reporting and 4
external segment reporting.
OR
How you can indetify whether segments are reportable
and non-reportable ?
(C) (1) Write two limitations of segment reporting. 3
(2) What 1s segment asset ?

(3) What is segment expenses ?

5  Write answers in one-two lines : (any seven) 14
(1) What 1is 'qualitative' disclosure ?

(2) Write meaning of comparability with reference to
report.

(3) Write users of Corporate Financial Report.
(4) What 1is value added statement ?

(5) Which accounting standard applicable for cashflow
statement ?

(6) Write full form of FASB.

(7) Explain the meaning of Timeliness with reference to
Financial Accounting.

(8) What is diluted earning per share ?
(9) Write formula for calculating Basic Earning per Share.

(10) Write name of related parties according to Accounting
Standard-18.

(11) Write full form of ICAIL

(12) Write bases of segment reporting.

(13) What is included in segment revenue ?

(14) Write two advantages of Accounting Standards.
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ENGLISH VERSION

Instruction : All questions carry equal marks.

1 (A) What i1s leadership? Explain in detail various 7
styles of leadership.
(B) Discuss economic role and social impact of business 7

in the society.

OR
(A) Describe the qualities of Ideal Leadership. 7
(B) What 1s visionary leadership? Explain its types. 7
2 (A) Explain Scope of Business Ethics. 7
(B) Explain the difference between Morale and Ethics. 7
OR
(A) Explain about the conflict of decision making aries 7

due to Ethical Principles.

(B) Explain the importance of Business Ethics. 7

3 (A) Explain corporate social responsibility toward 7

various parties.

(B) What is Ethics? Explain it various methods. 7
OR

(A) Explain the nature of ethics in management. 7

(B) Explain about managerial Ethics and Decision. 7
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4 (A) Why we need corporate governance ? 7

Describe reporting of Corporate Governance in India.

(B) Discuss claims of various stakeholders. 7
OR
(A) Explain the importance of Corporate Governance. 7
(B) Discuss SEBI regulations with reference to Corporate 7
Governance.
5 Answer in short : (any seven) 14

(1) Discuss the different types of values.

(2) How culture constraints or enhance leaders ?

(3) Define the term business ethics.
(4) Mention typical problems in business ethics.

(5) How business ethics 1is related with corporate
governance ?

(6) Explain Clause-49 of listing agreement.

(7) Advertising and Ethics.

(8) Explain the role of board of directors in corporate
governance.

(9) Explain relationship between Law and Ethics.

(10) Explain in short about Audit Committee.
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